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COMPUTER SCIENCE
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Cool off time : 15 Minutes

/ General Instructions to Candidates :

There is a 'Cool off time' of 15 minutes in addition to the writing time of
2 hrs.

You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.

Use the 'cool off time' to get familiar with questions and to plan your
answers.

Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from
the same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.

Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.
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1. Who is known as the father of

Modern Computer Science?
a) Alan Turing

b) John von Neumann

¢) Charles Babbage

d) Ada Lovelace

2.  Which one of the following is
NOT a free and open source

software?

a) GNU/ Linux

b) MS Office

c) GIMP

d) Mozilla Firefox

3. Which among the following is
NOT a recommended method for

e-waste disposal?
a) Reuse
b) Incineration
¢) Land filling
d) Recycling
4. Which one of the following is

NOT an iteration statement in
C++?

a) while
b) continue

c) for
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a) GNU/ Linux

b) MS Office

c) GIMP

d) Mozilla Firefox (1)
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a) Reuse

b) Incineration

¢) Land filling

d) Recycling 1)
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a) while
b) continue
c) for

d) do ... while (1)



5. Write an output of the following
C++ statements.
int p=1;
for (int n = =5; n<=5; n++)
p = p*n;
cout<<p;
a) 25
b) O
c) —25
d) None of these

6. An array is declared as follows :
int a [5] = {1, 2, 3, 4, 5};

What will be the value of
a[2] + a[3]?

a) 7
b) 5
c) 6
d) 4

7. Which one of the following is
NOT equal to others?

a) pow (64, 0.5)
b) pow (2, 3)

c) sqrt (64)

d) pow (3, 2)

8. Which one of the following

transmission media carry

information in the form of light
signals?

a) Coaxial cable

b) Shielded twisted pair
¢) Optical fibre cable

d) Wi-Fi
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(IMI®OUMEB®HOS output ag)eieise.
int p=1;
for (int n = =5; n<=5; n++)
p = p*n;
cout<<p;
a) 25
b) O
c) —25
d) epaie@omye @g) 1)
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a) pow (64, 0.5)

b) pow (2, 3)
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a) Coaxial cable

b) Shielded twisted pair

¢) Optical fibre cable

d) Wi-Fi (1)
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10.

11.

12.

SIM card is a smart card used
inside a mobile phone. What is
the full form of SIM?

a) Subscriber Identity Module
b) Subscriber Identity Mobile

¢) Subscriber Identification
Mobile

d) Single Identity Mobile
Which one of the following
terms refers to ethical hacker?
a) Black hat

b) Blue hat

¢) Grey hat

d) White hat

Which one of the following
statements is INCORRECT?

a) Syntax error occurs due to
violation of rules of the
programming language.

b) Incorrect punctuation is an
example of syntax error.

¢) Language processors detect

syntax error during
translation.
d) Language processor

translates source code into
machine code even if syntax
error 1is present in the
program.

Internet is an example of ...........
a) MAN
b) PAN
c) WAN
d) LAN
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b) Blue hat

¢) Grey hat

d) White hat

apales coldemlelesimal @l
RAWEPED (IVTOUM @ ?
a) Syntax error 9emodiMa

programming language o

nwaeBwd Blocallo6) j0M @]
6XB>06NBO6M).
b) wdwgoem aflamals;m e’

syntax error  ©BoaneMAOoeM.

¢) Language processor &@

syntax error al0l@oaud

MAQET BHOENBE0.

d) program & syntax error
oesmesl@ calorljo Language
processor, source code em
machine code GRIBS

a1G0l80aU6|SIEB0.

Internet ayaies caldowldlen;om
Aldd e@@lod ©6a0reMoe @REN?

a) MAN
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c) WAN
d) LAN
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13.

14.

15.

16.
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Match the following. (2) | 13. coirpeald] coldees. 2)
a) First Generation Computer i) Microprocessor
b) Second Generation Computer i1)  Vacuum Tube
c¢) Third Generation Computer iii) Transistor
d) Fourth Generation Computer iv) Integrated Circuit
Consider the following C++ 14. onaies ewsosyemlaleegm C++
program. program al@lnenles ..
#include<iostream> #include<iostream>
using namespace std; using namespace std;
int main O int main O
{ {
Char str [20]; Char str [20];
cin>>str; cin>>str;
cout<<str; cout<<str;
} }
What will be the output if we mon®d "Vande Mataram" agom
input the string "Vande string input @ m@slwo®, eno
Mataram". Justify your answer. (2) program ®O0M output
a0 dleee? MlaBeIes HBHOHED
N0 BB6))65. (2)
Write an algorithm to check 15. omigige &0y auden moealy, &g
whether a given integer is even MVoEUIWOBEMO DA (VoEUIWOCEMO
or odd. (2) oy’ mldeplenm@imes soy
BOACUWORI®O gL, (2)
OR
@ 62)81 @D
Draw a flow chart to compute DT Moalye10S o0
average of three numbers. (2) SeMmen0e0Molmes 80y flow
chart cuoeem. (2)
Identify and classify tokens in 16. 2pjaies  caldowmlclesym  C++
the following C++ statement. (ol molmwleel tokens
cout<<"The Missile Man": (2) @A )lev o G629 @b,
cout<<"The Missile Man"; (2)
Turn Over
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17.

18.

19.

20.

21.

Write output of the following
C++ program.

#include<iostream>
using namespace std;
int main O

{

inta=1, b=
cout<< a+b+c/3;
cout<<"\n";

cout<<(at+b)%c;

}

Write C++ statements to double
each element of the array
int A[100].

Write a recursive C++ function
that returns sum of the first n
natural numbers.

NAND gate is known as
universal gate because it can be
connected to other NAND gates
to generate any logic function.
Show how will you connect
NAND gates to produce OR gate,
AND gate and inverter.

Write the different types of
program documentation with
their importance.
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program e output ag)eiee.

#include<iostream>
using namespace std;
int main O

{

inta=1, b=
cout<< a+b+c/3;
cout<<"\n";

cout<<(at+b)%c;

}
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algleome. NAND  gates
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22.

23.

24.

25.

Write value returned by the
following C++ expressions if
x=10 and y=20.

a) x>15]|| y>15
b) x>15 && y>15

c) !(x>y) (3)

Consider an array A with the
following elements sorted in

ascending order.
5,9,10,13, 16, 17, 19, 20, 25, 37.

Explain the working of binary
search algorithm to search 25.
How many comparisons are

required for this searching?

(3)

List any three string functions
in C++ and specify the value

returned by them.

(3)

Explain the advantages of
forming networked computers
than keeping stand-alone

computers.

(3)
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functions eo @l return ealigyom
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26.

27.

28.

29.

Represent the following integers
in sign-magnitude form, 1's
complement form and 2's
complement form by using eight
bits.

a) +25
b) —-30
OR

Briefly explain any three
methods of representing

characters in computer memory.

Explain the influence of social

media in society.

What do you mean by data
the

various activities involved in

processing? Describe

data processing.

What

statement in a program? Explain

is the wuse of jump

the different types of jump

statements available in C++.
OR

Write a C++ program that
accepts a list of integers as input
and print sum of even integers

in the list.
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2's complement form-ejo
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a) +25

b) 30
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FIRST YEAR HIGHER SECONDARY IMPROVEMENT EXAMINATION JULY 2017

SUBJECT : COMPUTER SCIENCE CODE NO: 819
Qn.No | Sub Qn |Answer Key / Value points Score Total
1 (a)or(b)or(c) 1 1
2 (b)MS Office 1 1
3 {c)Land Filling 1 1
4 (b) continue 1 1
5 (b)O 1 1
6 {a)7 1 1
7 (a) or (c)or(d) 1 1
8 (c) Optical fibre cable 1 1
9 {a) Subsriber Identity Module 1 1
10 (d) white hat 1 1
11 (d) 1 1
12 ( c) WAN 1 1
13 (a) -ii  (b)-Wi  (c)-iv (d)-i (1/2)* 4 2
14
Vande - 1(score)/vandematharam - (1 score)
error - ( 1score) 1 2
justification - (1 score) 1
15 structure of algorithm / program /flowchart 1 2
correctness of logic 1
15 OR structure of flowchart/ program /algorithm 1 2
correctness of logic 1
16 Identification of any two tokens (1 score each) 1*2 2
4 1
0 1
17 (if output in sameline, give full mark) 2
Error with reason - (1+1)
use of loop - 1score 1
18 , 2
correct logic - 1 score 1
correct function strucutre 1
correct recursiv'e logic 1
OR
19 Correct program / function without recusive logic (2 2
scores)
OR
Defintion of recursion (1 score)

20 any two correct logic expression /circuit diagrom 1/,#%2 3
2 internal and external (1+1) 141 3
Any valid point - 1 score 1

22 (a) 1 ortrue oryes orTorY 1

P To




(b) Oorfalse orno orForN 1 3
{c)1 ortrue oryes orTorY i
Explanation 2
23 3 ! 3
correct algorithm / program / diagramatic steps (full
score)
24 List any three string functions 1+3 3
25 Any three adva'ntages 1*3 3
a) 00011001 , 00011001 , 00011001
26 b) 10011110 , 11100001 , 11100010 3*1 3
any three correct answers from (ajand (b) give full score
(For correct binary conversion only, give 1+1)

26 OR List any three mathods, (ASCil, EBCDIC, ISCIl, UNICODE) 1*3 3
27 Any three va'lid points 1*3 3
Definition 2
28 Listing of stages 6* Y/, 5

{Listing and explanation of stages - give full score)
Use of JUMP statements 1 .
Listing of 4 JUMP statements 4%1
{Any two with explanation - 4 score)
29 (Explanation of all Jump statements give ful score) 5
29 OR Program structure 1
variable declaration 1
input / output statement 1 5
use of loop 1
correct logic 1
To tal 60
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